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ANABAA XAPIKAEIA ANA
14 X838206 Oy Ox1 1 | 12 698 5 | 800 | 0] 0] 0 0 0 |279,20] 35 [Oxi| 1 |Oxf 1.11420] 1
KAAAIAKOYAA KAAAIOMH TMANA
16 X112114 Oy Ox1 1 | 11 714 12 | 725 0o | 0| O 0 0 |28560| 84 [Oxi| 1 |Ox| 1.094,60] 2
ETAZINOY AHMHTPA  ZMYP
18 AH060451 Oy1 Ox1 1 | 12 6,62 800 | 0| 0] 0O 0 0 |26480] 0 [Oxi| 1 |Ox| 1.064,80] 3
MOYAINOY EAMIAA rEPA:
17 X809245 Oy Oxi 1| 9 8,45 5755 | 0] 0] 0O 0 0 [33800] o0 [oOx]| 1 |Ox| 913,00] 4
KATZIKA EAEYGEPIA TEQPT
9 AB435407 Oxi Ox1 1 8 6,90 1 500 0 0 0 0 0 276,00 7 OxI 1 | Oxi 783,001 5
AHMHTPOTMOYAO AIKATEPINH  NIKOA
9 AA111002 Oy Oxi 1 820 13 0 ol o] o 0 0 [32800] 91 |ox| 1 [ox| 419,00 6
POYMEAIQTH  TEQPTIA MANAT
1 AK780617 Oxi Ox1 1 1 7,22 0 0 0 0 0 50 288,80 0 OxI 1 | Oxi 338,80 7
TZAMH BAPBAPA  NIKO/
13 AH500032 Oy Ox1 1 7,96 2 0 o]Jo] o 0 0 [31840| 14 |[oOx| 1 |Ox| 332,40| 8
KPHTIKOY KQNNA BAZIA
12 AK669260 Oxi Oxi B 0 o|lo] o 0 0 | 0,00 0 |oxi| B [ox 0,00, 9
KQNZTANTINIAOY TPIANTA®YA ANAPE
7 X527642  Nar Oxi 1 | 9 803 2 | 575 o[ o] o 0 0 [32120] 14 | Na| 1 [Ox| 91020] 10
NTOYNH EYAITEAIA  XPHE
8 2703163 Nar Oyx1 1 6 8,65 28 350 0 0 0 0 0 346,00 196 Nai 1 | Oxi 892,00] 11
FPYMANH HAIANA AGAN/
6 X584670 Nar Oxi 1 | 6 745 4 [ 30| o[ 0] o 0 0 [29800] 28 | Na| 1 [Oxi| 676,00 12
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FIANNAKOYPH  AIKATEPINH KQNN(
5 AK006451 Nai Oyxi 1 4 7,75 7 0 0 |200] o 0 0 [31000] 49 | Na| 1 [Ox| 559,00] 13
ZITAPA MAPKEAAA  MAMA
2 P652413 Nar Oyxy1 1 7,22 34 0 0 0 0 0 0 288,80 238 Nai 1 | Oxi 526,80 14
KAPAGANATH TEQPTIA XPHE
10 X667705  Nai Oxi 1 7,09 2 0 ol o] o 0 0 [28360] 14 | Na| 1 [Ox| 29760] 15
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